Gl_F“ Let . be e ¢IP (i year t

‘31’: - Yew -Ye B 4;_‘]**_‘ 1
Jx

8 G_:D"P arouﬁl‘l& fﬂ.ke'.

5 ”jl—q.1 = "jt (’\*—‘Bt) // SM‘PPOSG "‘LAQ.{‘

‘jhi-:l. = 'j&.(1'r‘-'1t)(4‘l'c}tt1) % \$ LO“S‘ICLMl':

»

¢ Mera = 3t(l+%t\("‘\m\(\1“}*”~3 e " 0s bk

\ATA LA /
A VAT i
~L' i.ll. o b



Gﬂ“ Let e be tHue EDP tn year t

?t - Yew - Ye . p- R L
Ve

o GDP aroml'h cate:

— ”jt-q.q = Ht (4"' 1} // SMPPGSG “‘LU-'-L'E‘
15 c_oﬂS‘fC&“\-’l-:
Jeey = “3&.(1*'6)(4* [ 3 %

) _q,=a, ,Ytd#s
e Mera =‘$t(u%\(lr3\(“l+1 3 ‘&=%k %s

\ATA EIAAT N i
VI "ATM L



C—_D_P= Let 4, be Hie GDP ¢ year t

o GD7P aroml-h cate: ?‘E =

=2 Doy Ye (A4 1\
y
Jeea = 9. (“"ﬂ
s Yaerd =4, U*%\%

: Qevm = 4 (“'13“

“dtl'l-‘dt Ad**_‘
Vs

// SMPPOSG Hoat

% 16 constant

gz e=gs VLS

Yy



Constant cafo\-DHA rate g—ornulq:

‘j{-,&-‘h = (A"'Cpﬂ "j-\:*
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